A few more errors not corrected in the second printing or the third printing

(Note that the errors corrected in the second printing are in red, and those corrected in the
third printing, 2006, are in blue).

P 99, eq (3.3.6): Armissing q,, = q,, + AtS(q,,»)

P151, eq. (5.4.4) bottom rho_12 should be rho_2n (David Pearson)
With thanks to Drs. Kazuo Saito and Majid Azadi:

P 215 line 10: equation (3.7) should be (6.3.7)

P 217 Fig. 6.3.2: vector on the right should be labeled u;, not u,

P 226, top equations. Replace with
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P 229, above equation (6.4.4), add parentheses to the terms summed:
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P 229, eq. (6.4.4), add brackets to the sum:
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P 231, eq. (6.4.9), need angle brackets on the term after equal sign:
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